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I_j\uc d\ZjlZe ����]� 
1. H[sZy kf_lgZy klhbfhklv h[t_dlZ khklZ\ey_l 
$1 500 000. 
 
2. Klhbfhklv aZljZl hlghkysZyky d kljhbl_evkl\m ]eZ\gh]h dhjimkZ

khklZ\ey_l� 
$1 500 000 × 80% = $1 200 000 
 
3. Kf_lgZy klhbfhklv� hklZ\rboky lj_o kdeZ^kdbo ihf_s_gbc khklZ\ey_l� 
$1 500 000 - $1 200 000 = $300 000 
 
4. <_dk_ev d hieZl_� 
($800 000 × 9% × 3/12 = $18 000)/ $800 000 = 2.25% 
 
5. AZljZlu ih aZcfZf� dhlhju_ ihl_gpbZevgh fh]ml dZiblZebabjh\Zlvky� 
$1 200 000 × 2.25% = $27 000 
 
6. DZiblZebabjm_lky gZbf_gvr__ agZq_gb_     $18 000 
 
7. IjbagZggu dZd jZkoh^ ���� ��� - $18 000)     $0 
 
8. ;mo]Zel_jkdb_ ijh\h^db ih dZiblZevguf \eh`_gbyf \ a^Zgb_ ]eZ\gh]h

dhjimkZ� 
 

>l ��� A^Zgb_ ....................................................... $1 200 000 
 Dl �������� >_g_`gu_ kj-\Z.............................................$1 200 000 

 
9. ;mo]Zel_jkdb_ ijh\h^db ih dZiblZebaZpbb aZljZl ih aZcfZf� 
 

>l ��� A^Zgb_ ............................................................ $18 000 
 Dl ��� Ijhp_glu d hieZl_  $18 000 


